Summary for Section 7.2

	CLT for 
	C.I. = Confidence Interval
	Sample size n

	1. Binomial Conditions are valid
2. n
3. 
4. Conditions 2 and 3 mean that your sample is big enough.
The CLT for  says the sampling distribution for  will be bell shaped with:





  
	P = Best Estimate  

Best Estimate =  = 

Error = 

So P =   

Example:

P = 0.3  0.1
Best Estimate =  = 0.3
Error = 0.1
C.I. is P 
C.I. is P  [L , U]

	You need a C.I. with high confidence (which means a specified level of confidence) and a small error (which means a specified E).

So the question boils down to:
How big the sample size should be to guarantee a high specified confidence and a small specified error.

a) If    is known from prior studies, then:

n =            

b) If   is unknown then :
n = 
 when computing the sample size n, you always round up.
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FINDING A CONFIDENCE
INTERVAL USING TI-83/84

Select STAT.
Arrow right to TESTS.

2
3. Select A:1-PropZint...
4.
s,
6.
7.

Enter the number of successes as x.
Enter the size of the sample as 1.
Enter the Confidence Level.

Arrow down to Calculate and press ENTER.

NOTE: Ifthe proportion is given, you must first compute number
of successes by multiplying the proportion (as a decimal) by the
sample size. You must round to the nearest integer.




